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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870235
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7108709421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill

2. Critical thinking

3. Steady association
4. Mastery of facts
Options :
71087037681. 1
71087037682. 2
71087037683. 3
71087037684. 4

Question Number : 1 Question Id : 7108709421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087037681. 1
71087037682. 2
71087037683. 3
71087037684. 4

Question Number : 2 Question Id : 7108709422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3.B and Conly
4. D and E only



Options :

71087037685. 1
71087037686. 2
71087037687. 3
71087037688. 4

Question Number : 2 Question Id : 7108709422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.@dd C AR D
2. Had A AR B
3. ®HaAAB AR C
4. HaAD ARE
Options :
71087037685. 1
71087037686. 2
71087037687. 3
71087037688. 4

Question Number : 3 Question Id : 7108709423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. B, D and E only
Options :
71087037689. 1
71087037690. 2
71087037691. 3
71087037692. 4

Question Number : 3 Question Id : 7108709423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. @A A D IARE
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Options :
71087037689. 1
71087037690. 2
71087037691. 3
71087037692. 4

Question Number : 4 Question Id : 7108709424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3.B,Cand D only
4.C, D and E only
Options :
71087037693. 1
71087037694. 2
71087037695. 3
71087037696. 4

Question Number : 4 Question Id : 7108709424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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FrafaRad Geedl § 9 U8l ST &1 9g &1 :

1. HaAA, C3RD
2. BAAA, B IAR C
3. ®aAB, C3RD
4.HaAC, D ARE
Options :
71087037693 1
71087037694. 2
71087037695. 3
71087037696. 4

Question Number : 5 Question Id : 7108709425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Methods of estimating the reliability of a|Description
test

l. Administering the test in one session with

A, Test-retest method : ]
two equivalent halves of the test for correlation

Il. Two or more raters score the test
B. Alternate form method .
independently

, lll. Administering the same test to the same
C. Split-half method , .
group at two different sessions

IV. Administering the two forms of the test to
D. Inter-rater method

the same group at two different sessions

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-IVB-IL,C-I1L,D-1
4AA-1ILB-IV,C-1,D-1I
Options :

71087037697. 1
71087037698. 2
71087037699. 3
71087037700. 4

Question Number : 5 Question Id : 7108709425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087037697. 1
71087037698. 2
71087037699. 3
71087037700. 4

Question Number : 6 Question Id : 7108709426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following research is intervention-based, cyclic in nature and improvement
focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research
Options :

71087037701. 1
71087037702. 2
71087037703. 3
71087037704. 4

Question Number : 6 Question Id : 7108709426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fofafad § T -9 Y S8 Ufid, I91 UPid R QUR Biad & 2

1. Y 30T Ty
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3. YONTTHS Y
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Options :
71087037701. 1
71087037702. 2
71087037703. 3
71087037704. 4

Question Number : 7 Question Id : 7108709427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error
Options :

71087037705. 1

71087037706. 2

71087037707. 3

71087037708. 4

Question Number : 7 Question Id : 7108709427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037705. 1
71087037706. 2
71087037707. 3
71087037708. 4

Question Number : 8 Question Id : 7108709428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. A B and E only
Options :
71087037709. 1
71087037710. 2
71087037711.3
71087037712. 4

Question Number : 8 Question Id : 7108709428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. Bad A, D IARE
4, BT A, B IARE
Options :
71087037709. 1
71087037710. 2
71087037711. 3
71087037712. 4

Question Number : 9 Question Id : 7108709429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Sampling techniques used in research |Description

A. Simple random sampling . The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling Il. Each unit is given an equal independent chance
of being picked up

C Di . I i lll. The k-interval is obtained by N/n and the units
. Dimensional samplin , ) _
Ping are drawn using the same, where N is population

size and n is desired sample size.

D. Snowball sampling V. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087037713. 1
71087037714. 2
71087037715. 3
71087037716. 4

Question Number : 9 Question Id : 7108709429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i-1 5 =Y H U Wi it 61 741 § Wi aii-1 H 3t ol 61 i 8 | G-l

®I Gall-1l & qry Gaferd & -
gal-| gal-Il
|

A FHETY

. . mfcreRt W=AT ST U gd ifisiiid & fafiy dam
|ﬁ; i & IR el @I AfiIid ot o 8

B. MY ||l Ul gf-e &l 9af-d ®- o 6 99H 3R Wdd HaW
ufdaos e Srar e

s 1. K - HaRTel N/n T TR ol SiTdT & 3R S9®1 JUdi &
'ﬁ el @1 [AdTer 9l 8, Sigl N 9P HeR ([@5d ) AR n
Uides HHRE |

D. |G |Iv. U¥H UeH gi-e fgdid gie @I Sifisiitd & o g
Ufdgad  |[JART @1 ol g1 98 3Haid 9adl tedl 8|
fofeiad © 4 9l SR o1 98 & ;

T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087037713. 1
71087037714. 2
71087037715. 3
71087037716. 4

Question Number : 10 Question Id : 7108709430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087037717. 1

71087037718. 2

71087037719. 3

71087037720. 4

Question Number : 10 Question Id : 7108709430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i gl By R B : U@ gy (a) SR @I dd (R) &

HYDHYA (A) : Y H SFEUEHES - A Ufad= gur fEo & o gerd! siaEHg
EHECANR T NI

dd (R) : 39 Ui H Y &1 3530 THRIGIU R Ugd-l ol o dicd Guiid 341 &1 Giel |
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087037717. 1

71087037718. 2

71087037719. 3

71087037720. 4

Sub-Section Number : 2
Sub-Section Id : 710870236
Question Shuffling Allowed : Yes

Question Id : 7108709431 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a socially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing good. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagenia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.

Sub questions

Question Number : 11 Question Id : 7108709432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

Options :

71087037721. 1

71087037722. 2

71087037723. 3

71087037724. 4

Question Number : 12 Question Id : 7108709433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
Options :

71087037725. 1

71087037726. 2

71087037727. 3

71087037728. 4

Question Number : 13 Question Id : 7108709434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market
Options :

71087037729. 1

71087037730. 2

71087037731. 3

71087037732. 4

Question Number : 14 Question Id : 7108709435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue
Options :

71087037733. 1

71087037734.2

71087037735. 3

71087037736. 4

Question Number : 15 Question Id : 7108709436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087037737. 1
71087037738. 2
71087037739. 3
71087037740. 4

Question Id : 7108709431 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 7108709432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037721. 1

71087037722 2

71087037723. 3

71087037724. 4

Question Number : 12 Question Id : 7108709433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIS & TH & i dl &1 dgleg o -
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4. 951 & ot 59 UeH &=l
Options :

71087037725. 1
71087037726. 2
71087037727. 3
71087037728. 4

Question Number : 13 Question Id : 7108709434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037729. 1
71087037730. 2
71087037731. 3
71087037732. 4

Question Number : 14 Question Id : 7108709435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U=se & HUR G4 faUuH &l S E 0 8 I 9l 6 -

1. QA TTHUGd

2. UHeIb® YHddl

3. U HaWR & ©U H FHEE & U =81 &l
4. U% ST g & ©U & TS R g i
Options :

71087037733. 1

71087037734.2

71087037735. 3

71087037736. 4

Question Number : 15 Question Id : 7108709436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087037737. 1
71087037738. 2
71087037739. 3
71087037740 4

Sub-Section Number : 3
Sub-Section Id : 710870237
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 7108709437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept ‘fraction of selection’ in classroom communication is determined by the
expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed
Options :

71087037741. 1
71087037742. 2
71087037743. 3
71087037744. 4

Question Number : 16 Question Id : 7108709437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037741. 1
71087037742. 2
71087037743. 3
71087037744, 4

Question Number : 17 Question Id : 7108709438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and F only
4.D,Eand F only
Options :
71087037745. 1
71087037746. 2
71087037747. 3
71087037748. 4

Question Number : 17 Question Id : 7108709438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R F
4. HAAD, E3RF
Options :
71087037745. 1
71087037746. 2
71087037747. 3
71087037748. 4

Question Number : 18 Question Id : 7108709439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087037749. 1

71087037750. 2

71087037751. 3

71087037752. 4

Question Number : 18 Question Id : 7108709439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087037749. 1

71087037750. 2

71087037751. 3

71087037752. 4

Question Number : 19 Question Id : 7108709440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Type of communication Characteristics

A. Intra-personal l. Between persons

B. Inter-personal Il. within a small organisation

C. Group lll. Large number of unknown audience
D. Mass IV. Within oneself

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

71087037753. 1
71087037754. 2
71087037755.3
71087037756. 4

Question Number : 19 Question Id : 7108709440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i1 Dl Tall-1l Y AT Bife ;

gal-| gl-1l

U0 BT ThR fa=Ivan
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C. 998 11, ST Yidrei &1 921 g
D. SiF-HHeH V. %ad |

g f[aeul § § 9al ST &1 90 31 :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

71087037753. 1
71087037754. 2
71087037755.3
71087037756. 4

Question Number : 20 Question Id : 7108709441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement |I: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087037757. 1

71087037758. 2

71087037759. 3

71087037760. 4

Question Number : 20 Question Id : 7108709441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037757. 1

71087037758. 2

71087037759. 3

71087037760. 4

Question Number : 21 Question Id : 7108709442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given three numbers, first is twice the second and is half of the third. If the average of three
numbers is 56, then the difference of first and third number is

1. 12

2. 24

3. 36

4.48

Options :
71087037761. 1
71087037762. 2
71087037763. 3



71087037764. 4

Question Number : 21 Question Id : 7108709442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e 7 Teae € et ) uec T gudl O @ gl & oYl de e @i el 81 afg et
TEH13HT D1 3HTEd 56 B dl UGl 3R IRl H@A1 B 3R I -

1.12

2. 24

3.36

4. 48

Options :
71087037761. 1
71087037762. 2
71087037763. 3
71087037764. 4

Question Number : 22 Question Id : 7108709443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
2,10, 26, 50,

1. 78

294

3.82

4.104
Options :
71087037765. 1
71087037766. 2
71087037767. 3



71087037768. 4

Question Number : 22 Question Id : 7108709443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2,10, 26,50 ___ B 4@ H 3FTd 3Hep BT (e &1 -

1. 78

294

3.82

4.104
Options :
71087037765. 1
71087037766. 2
71087037767. 3
71087037768. 4

Question Number : 23 Question Id : 7108709444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
490 km/hour
Options :

71087037769. 1
71087037770. 2
71087037771. 3
71087037772. 4



Question Number : 23 Question Id : 7108709444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& H 911 5T U@ ATGH! F1feq a1 ¢ [ a8 TP e o 31 SoieH & 9l & T @i o1 ofe
EH 50 Hiex St Fafd gt W ol dl ¢ & Wis | il 2

1. 50 Tt / Wfcder
2. 60 T A1, / Ufcden
3. 80 f A1, / ufeden
4, 90 T #1. ; ufada
Options :
71087037769. 1
71087037770. 2
71087037771. 3
71087037772. 4

Question Number : 24 Question Id : 7108709445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
year?

1. 5125

2. 5250

3. 5500
45150
Options :
71087037773. 1
71087037774. 2
71087037775. 3



71087037776. 4

Question Number : 24 Question Id : 7108709445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. 50,000/- B IHH dF H 1 A & 10T 10% UTday o &4s U 991 S 7741 | I8 =0T 44 giftia
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1. 5125

2. 5250

3. 5500
45150
Options :
71087037773. 1
71087037774. 2
71087037775. 3
71087037776. 4

Question Number : 25 Question Id : 7108709446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, what is the next term?

abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. defj
Options :
71087037777. 1
71087037778. 2



71087037779. 3
71087037780. 4

Question Number : 25 Question Id : 7108709446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
7751 31&R1 BT e # 2T U 1 BN
abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. def]
Options :
71087037777. 1
71087037778. 2
71087037779. 3
71087037780. 4

Question Number : 26 Question Id : 7108709447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

D. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087037781. 1
71087037782. 2
71087037783. 3
71087037784. 4

Question Number : 26 Question Id : 7108709447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087037781. 1
71087037782. 2
71087037783. 3
71087037784. 4

Question Number : 27 Question Id : 7108709448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

B. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087037785.
71087037786.
71087037787.
71087037788.

AW O~

Question Number : 27 Question Id : 7108709448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, STDIET
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C. ard

D. Gy
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1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087037785.
71087037786.
71087037787.
71087037788.

AW O~

Question Number : 28 Question Id : 7108709449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘To infer rain in the past by perceiving muddy water in the pond’, is

1. PGrvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison

Options :

71087037789. 1



71087037790. 2
71087037791. 3
71087037792. 4

Question Number : 28 Question Id : 7108709449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dIeiE o $idsygad Ul & Ud § SR 814 &1 Fwhy Ade- & -

1. 94 SFHH
2. R9ad HTHH
3.1 3R 2 gHf
4. il
Options :
71087037789. 1
71087037790. 2
71087037791. 3
71087037792. 4

Question Number : 29 Question Id : 7108709450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fallacy (hetvabhasha) produced in the conclusion due to the repudiation of Sadhya by
Hetu is known as

1. Savyabhichara
2. Viruddha

3. Satpratipaksha
4. Asiddha
Options :
71087037793. 1



71087037794. 2
71087037795. 3
71087037796. 4

Question Number : 29 Question Id : 7108709450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. JAHAR
2. faes
3. gaufdus
4, &g

Options :

71087037793. 1
71087037794. 2
71087037795. 3
71087037796. 4

Question Number : 30 Question Id : 7108709451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A, All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087037797. 1
71087037798. 2
71087037799. 3
71087037800. 4

Question Number : 30 Question Id : 7108709451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087037797. 1
71087037798. 2
71087037799 3
71087037800. 4

Sub-Section Number : 4
Sub-Section Id : 710870238
Question Shuffling Allowed : Yes

Question Id : 7108709452 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)

Question Label : Comprehension



Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 285 98 3 23.4 83
2076 347 112 2.52 32.5 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 494 93

Sub questions

Question Number : 31 Question Id : 7108709453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087037801. 1
71087037802. 2
71087037803. 3
71087037804. 4



Question Number : 32 Question Id : 7108709454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4, -1%
Options :
71087037805. 1
71087037806. 2
71087037807. 3
71087037808. 4

Question Number : 33 Question Id : 7108709455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total expenditure on all these items in 2015 was approximately what per cent of the total
expenditure in 20197

1. 84.63 %
2.58 %
3.91%

4.73 %
Options :
71087037809. 1
71087037810. 2
71087037811. 3
71087037812. 4



Question Number : 34 Question Id : 7108709456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 524.44

3. 544.44

4. 591.41
Options :
71087037813. 1
71087037814. 2
71087037815. 3
71087037816. 4

Question Number : 35 Question Id : 7108709457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

1. 17:11
2.27:22
3.31:27
4, 19:17
Options :
71087037817. 1
71087037818. 2
71087037819. 3
71087037820. 4

Question Id : 7108709452 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (31 to 35)
Question Label : Comprehension

= 3t 7S IR FT sEEET By iR fSA T aul & Tw & at (@ Ul 7) &7 uiaad
FHURRUN IS :

o0 o Y (@rat 1)
aﬁ 0 .
HHAMG BT | gfaed a9 U R Y G
dod
2015 288 = ta] 3.00 23.4 83
2016 342 112 2.52 325 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 364 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 7108709453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=yT &l ufaay ofied fad=1 =T gl USdl 6 ?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087037801. 1
71087037802. 2
71087037803. 3
71087037804. 4

Question Number : 32 Question Id : 7108709454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sfearad afd o T 5 9199 31 S o U3 YeH 31 ¢ 98 94 3@y ¥ Ued &d dad &1 A
BT ATHIT [T UfRd 8 2

1. -3 %
2 -4 %
3. -7 %
4. -1%
Options :
71087037805. 1
71087037806. 2
71087037807. 3
71087037808. 4

Question Number : 33 Question Id : 7108709455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2015 H 3 9 Hal UR 001 41 §dd o6 2019 & ol Adl &I TTH fdha-1 Hiard o ?

1. 84.63%

2. 58%

3.91%

4. 73%
Options :
71087037809. 1
71087037810. 2
71087037811. 3
71087037812. 4

Question Number : 34 Question Id : 7108709456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2017 AT B HAAGH FA T © -

1. 624.6
2.524.44

3. 544.44

4. 591.41
Options :
71087037813. 1
71087037814. 2
71087037815. 3
71087037816. 4

Question Number : 35 Question Id : 7108709457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 17:11
2.27:22
3.31:27

4. 19:17
Options :
71087037817. 1
71087037818. 2
71087037819. 3
71087037820. 4

Sub-Section Number : 5
Sub-Section Id : 710870239
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 7108709458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation loT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
Options :

71087037821. 1

71087037822. 2

71087037823. 3

71087037824. 4

Question Number : 36 Question Id : 7108709458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
loT Tt &1 gul Y (b BiH) |18 ?

1. TSI HIhY 3B R
2. 3ee HIp g

3. 32 HHE U@

4. 3EEHe AP CHlnHIGTH
Options :

71087037821. 1

71087037822. 2

71087037823. 3

71087037824. 4

Question Number : 37 Question Id : 7108709459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of memory holds the computer startup routine?

1. RAM

2. WAN

3. ROM

4. Cache
Options :
71087037825. 1
71087037826. 2
71087037827. 3
71087037828. 4

Question Number : 37 Question Id : 7108709459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AR TUH

2. S=Y U T
3. 3R I TH
4. B
Options :
71087037825. 1
71087037826. 2
71087037827. 3
71087037828. 4

Question Number : 38 Question Id : 7108709460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

71087037829. 1
71087037830. 2
71087037831. 3
71087037832. 4

Question Number : 38 Question Id : 7108709460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -
HUBHU (A) : HRA & A5 TaRTHdlsi &1 el duil I 96 6l ol
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IWdd HYHT & et H Fgifdd fddel d I affie 3ugdd 3w 9 -
1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬁ?(m, (A) BT eI SRS T8l o

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

71087037829. 1

71087037830. 2

71087037831. 3
71087037832. 4

Question Number : 39 Question Id : 7108709461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2. .png

3. .doc

4..jpg
Options :
71087037833. 1
71087037834. 2
71087037835.3
71087037836. 4

Question Number : 39 Question Id : 7108709461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

31tpY 2007 H HIFHIHIE (THUH) TS SIFgHT B BI5d [GER © -

1. .docx

2. .png

3. .doc

4..jpg
Options :
71087037833. 1
71087037834. 2
71087037835. 3
71087037836. 4

Question Number : 40 Question Id : 7108709462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the binary number for decimal number 97

1. 1100

2. 1001
3.0111

4. 1011
Options :
71087037837. 1
71087037838. 2
71087037839. 3
71087037840. 4

Question Number : 40 Question Id : 7108709462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST G019 B feeR U 1 & 7

1. 1100

2. 1001
30111
41011
Options :
71087037837. 1
71087037838. 2
71087037839. 3
71087037840. 4

Question Number : 41 Question Id : 7108709463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band Conly
4. A, Cand D only
Options :
71087037841. 1
71087037842. 2
71087037843. 3
71087037844. 4

Question Number : 41 Question Id : 7108709463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HISH URd & &R0 & HRU & -
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C. 38 d%¢ @I G
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=< fGu e foTcal # € U8l SR &1 99 @9 ;

1. Had A, B3R D
2. ®ad A AR D
3. @A A, B AR C
4. HAAA, C3RD
Options :
71087037841 1
71087037842. 2
71087037843, 3
71087037844. 4

Question Number : 42 Question Id : 7108709464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4. Primary education

Options :



71087037845. 1
71087037846. 2
71087037847. 3
71087037848. 4

Question Number : 42 Question Id : 7108709464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiaad 3 9 U o1 91 981 e & forad Geuife: Ay aedl & ded SH1YH fardl o T 2

1. RR[ e
2. JgiaRuig SH=gar

3. OHg HfUHR
4, UTYiHe T2ra

Options :

71087037845. 1
71087037846. 2
71087037847. 3
71087037848. 4

Question Number : 43 Question Id : 7108709465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087037849. 1
71087037850. 2
71087037851. 3
71087037852. 4

Question Number : 43 Question Id : 7108709465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FAHH H BTE- SIS3Ha58 Iovi & Ufdadiad ool H GTGH o dld G2 & JHaig HH I
‘\q—fﬂmﬁ usalaﬁ:

A. HIRd

B. A

C. §gad Y 3R

D. SITUH

4 [9@eul § 9 981 IR @1 984 B ;

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087037849. 1
71087037850. 2
71087037851. 3
71087037852. 4

Question Number : 44 Question Id : 7108709466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are
prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large
hydropower plant

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087037853. 1

71087037854. 2

71087037855. 3

71087037856. 4

Question Number : 44 Question Id : 7108709466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087037853. 1

71087037854. 2

71087037855. 3

71087037856. 4

Question Number : 45 Question Id : 7108709467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Day time noise standard prescribed for residential areas in India is

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087037857. 1
71087037858. 2
71087037859. 3
71087037860. 4



Question Number : 45 Question Id : 7108709467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

URd H fardig &Ff & e g § g R s oM@ & -

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087037857. 1
71087037858. 2
71087037859. 3
71087037860. 4

Question Number : 46 Question Id : 7108709468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980
2.1982

3. 1984

4. 1986
Options :
71087037861. 1
71087037862. 2
71087037863. 3
71087037864. 4



Question Number : 46 Question Id : 7108709468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H I SR & W ds & T H T8I @1 G401 gRI fhd I8 H eRIgy ¥ & $U H
Hifyd favar mar 2

1. 1980

2. 1982
3.1984

4. 1986
Options :
71087037861. 1
71087037862. 2
71087037863. 3
71087037864. 4

Question Number : 47 Question Id : 7108709469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087037865. 1
71087037866. 2
71087037867. 3
71087037868. 4



Question Number : 47 Question Id : 7108709469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

APTY IR TR A (3R Y TH Q) S U iy Wifod ioHT & 3R forder 3§30 U sy
FeaeR A&t YR h! YR fad GIe0 Y Sl &, BT YHRY B fbdn 7197 o1 7

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087037865. 1
71087037866. 2
71087037867. 3
71087037868. 4

Question Number : 48 Question Id : 7108709470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4. 19-24 years
Options :

71087037869. 1
71087037870. 2



71087037871. 3
71087037872. 4

Question Number : 48 Question Id : 7108709470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JR & H I AMie- UM (GisHR) Iwda [RI&TH $d 39 FRUs THi$ Ued Tod a4
o U HYSRS o9 G & Uiad & &4 H Hfiedad gidl £ 1 39 Jay ¥ [Rufiad § 4 oH-
1 31 Y98 UH ATEh1RE S &I Gidl & ?

1.16-21 a4
2.17-2234
3.18-2394
4.19-24 7Y
Options :
71087037869. 1
71087037870. 2
71087037871. 3
71087037872. 4

Question Number : 49 Question Id : 7108709471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087037873. 1
71087037874. 2
71087037875. 3
71087037876. 4

Question Number : 49 Question Id : 7108709471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087037873. 1
71087037874. 2
71087037875. 3
71087037876 4

Question Number : 50 Question Id : 7108709472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

ICT Human

Resource Development

Initiatives of Ministry of

Their benefits for students and researchers

A, SWAYAM

. To get hands-on experience in embedded
system

B. SWAYAMPRABHA

Il. To get free books and curriculum-based e-
content

C. e-PG Pathshala

. To watch high-quality educational
programmes 24x7

0. e-Yantra

IV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4A-LB-ILC-1ILD-1V
Options :

71087037877. 1
71087037878. 2
71087037879. 3
71087037880. 4

Question Number : 50 Question Id : 7108709472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D.3- 41 V. AR DY & SR hise U Sl
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TA-NLB-IV,C-1,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-1L,B-II,LC-1I,D-1V
Options :

71087037877. 1
71087037878. 2
71087037879. 3
71087037880. 4

PART II Criminology
Section Id : 710870236
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92

Number of Questions to be attempted : 92



Section Marks : 200

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870240
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 7108709473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In ancient times, societies widely accepted the law of equal retalition is known as

1. Resocialization
2. Lex talionis

3. Reformation
4, Rehabilitation
Options :
71087037881. 1
71087037882. 2
71087037883. 3
71087037884. 4

Question Number : 51 Question Id : 7108709473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Wi B H, GHH Widdd & SA &I AP U Y WIHR H- did THTl B ol del ordl 4T ?

1. TF: THTSHI
2. T ety
3. g

ERIEGIES]

Options :




71087037881. 1
71087037882. 2
71087037883. 3
71087037884. 4

Question Number : 52 Question Id : 7108709474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following is NOT a somatotype?

1. Mesomorphs
2. Epilepsy

3. Endomorphs
4. Ectomorphs
Options :
71087037885. 1
71087037886. 2
71087037887. 3
71087037888. 4

Question Number : 52 Question Id : 7108709474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FfeRad H§ 9 ®F-91 S TRU AR § 2
1. HEH

2. et

3. TSR

4. Uae AT
Options :
71087037885. 1

71087037886. 2



71087037887. 3
71087037888. 4

Question Number : 53 Question Id : 7108709475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following is associated with Mesomorphs, Endomorphs and Ectomorphs
under Somatotype or the body type?

1. William Chambilis
2. Albert Bandura

3. Charles Goring

4, William Sheldon
Options :
71087037889. 1
71087037890. 2
71087037891. 3
71087037892. 4

Question Number : 53 Question Id : 7108709475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
[7TRad 5 U B FiHel T8y U1 IR I9A1 & Sl HEHIT, TSHIE SR TR 3 969G
87

1. faferam dwafe™
2. Ueae gl

3. T TR

4. faferam e
Options :
71087037889. 1
71087037890. 2



71087037891. 3
71087037892. 4

Question Number : 54 Question Id : 7108709476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following operates on the pleasure principle, which requires instant
gratification without concern for the others?

1. Superego

2. Ego

3. Endocrine glands
4.1d

Options :
71087037893. 1
71087037894. 2
71087037895. 3
71087037896. 4

Question Number : 54 Question Id : 7108709476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafaRad 3 9 o191 98 o< fgid 8 f59H g8t il & f&d1 f& &1 dap et ufdrao
UM g 2

1. UH HgH

2. HeH

3. 3fa: Frdl T
4.38

Options :
71087037893. 1
71087037894. 2



71087037895. 3
71087037896. 4

Question Number : 55 Question Id : 7108709477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a Social Learning Theory?

1. Differential association theory

2. Differential reinforcement theory
3. Neutralization theory

4. Classical theory

Options :

71087037897. 1

71087037898. 2

71087037899. 3

71087037900. 4

Question Number : 55 Question Id : 7108709477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafaiad 3 4 oH-91 v gHise Uedl figid 381 8 7

1. He® Ulgdd fagid
2. Yod Ugad [asid

3. FEYIia®I fagid
4, T gl

Options :

71087037897. 1
71087037898. 2
71087037899. 3



71087037900. 4

Question Number : 56 Question Id : 7108709478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT an element of Hirschi's Social Bond Theory?

1. Attachment
2. Commitment
3. Invalvement
4, Deviant
Options :
71087037901. 1
71087037902. 2
71087037903. 3
71087037904. 4

Question Number : 56 Question Id : 7108709478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fEfEa 3 9 oH-ar B & gHiee du- gid srda 98 & 2

1. 3TE(ad

2. Ufdegel

3. 3P

4, fqayrmt
Options :
71087037901. 1
71087037902. 2
71087037903. 3
71087037904. 4



Question Number : 57 Question Id : 7108709479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which case, the Supreme Court expressed its concern over custodial violence during
investigation and interrogation and laid down certain principles to be followed by the
concerned police officers?

1. Bhim Singh v. State of ) & K

2. D. K. Basu v. State of West Bengal

3. Rudal Shah v. State of Bihar

4, Hussainara Khatoon v. State of Bihar
Options :

71087037905. 1

71087037906. 2

71087037907. 3

71087037908. 4

Question Number : 57 Question Id : 7108709479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g AHe H, Iad ey + H-auU] 3R USdls & SR i dldl deeal [edl U (U1 fddl
T B AR Yafd gierg SR §R1 916 BT oF & [T $6 [GRIHe ®I Ufdure- &6bar 2

1. 41 Y8 9919 o7 Ud HER TaR
2. Slb. 89 9419 UfEY &1 TWHR

3. 9Gd WTE 89 [68R WHR

4. EUARI @I a9 fdgR TWaR
Options :

71087037905. 1

71087037906. 2

71087037907. 3

71087037908. 4




Question Number : 58 Question Id : 7108709480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following authored the famous essay entitled "What Works?" in the context
of treatment of offenders?

1. Von Henting

2. Jeremy Bentham

3. Robert Martinson

4. Benjamin Mendelsohn
Options :

71087037909. 1
71087037910. 2
71087037911. 3
71087037912. 4

Question Number : 58 Question Id : 7108709480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ORI & Wiy oOdeR & SH H, Fafaied 8§ ¥ foud =e g i ara uiig [ds @1
o T g 2

1. a2

2. ofedt oy

3. Iae A

4, I B= e
Options :
71087037909. 1
71087037910. 2
71087037911. 3
71087037912. 4




Question Number : 59 Question Id : 7108709481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Supreme Court, in which case, observed that handcuffing is prima facie inhuman and
therefore, unreasonable and at the first blush arbitrary?

1. Prakash Singh & others v. Union of India

2. Prem Shankar Shukla v. Delhi Administration

3. Dalip Singh v. State of Haryana

4. Kodali Puranchandra Rao v. Public Prosecutor, Andhra Pradesh
Options :

71087037913. 1

71087037914. 2

71087037915. 3

71087037916. 4

Question Number : 59 Question Id : 7108709481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
3dad Ay - oy anTd ¥ 98 el 41 {6 gyd sl G HT UYH 251 AN $id 8 3R
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1. WepT¥l T U9 30 9910 HRd 99

2. T e et S feeell U=

3. feeiig fig o9 gRan ReR
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Options :

71087037913. 1

71087037914. 2

71087037915. 3




71087037916. 4

Question Number : 60 Question Id : 7108709482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who headed the three-member committee constituted by the Government of India in 2012 to
suggest reforms in the law relating to sexual violence against women?

1. Justice Dipak Mishra
2. Justice T. S. Thakur
3. Justice J. S. Verma

4. Justice Krishna lyer
Options :

71087037917. 1
71087037918. 2
71087037919. 3
71087037920. 4

Question Number : 60 Question Id : 7108709482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Afgasf & favg 4 fEar 9 Yefia &7 & QR & 9R § g3d o1 & [ a¥ 2012 § YRd
WHR gRI T3 B 113 i iy giifa & srgg o 4 2

1. FeH EUs fHe
2. Wiy 3104, 31
3. SifEey of. T, 3o
4, Sy PW TR
Options :
71087037917. 1
71087037918. 2
71087037919. 3



71087037920. 4

Question Number : 61 Question Id : 7108709483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is an investigative organization having concurrent jurisdiction
empowering the centre to probe terror attacks in any part of the country?

1. Central Bureau of Investigation

2. Criminal Investigation Department
3. Federal Investigation Unit

4. National Investigation Agency
Options :

71087037921. 1

71087037922. 2

71087037923. 3

71087037924. 4

Question Number : 61 Question Id : 7108709483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fFafRad 3 4 &H-0 gaad! TRieR I Syl SR &g IWHR I G2 & [l 1 HFTH
i arc gHal 1 wild B B Widkd UG Bl & ?

1. B a0 &R

2. AR =0T [FHAT
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4,91 Sig Tordl
Options :

71087037921. 1
71087037922. 2
71087037923. 3



71087037924. 4

Question Number : 62 Question Id : 7108709484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is a measure of dispersion?

1. Mean

2. Standard deviation
3. Median

4, Mode

Options :
71087037925. 1
71087037926. 2
71087037927. 3
71087037928. 4

Question Number : 62 Question Id : 7108709484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. /1
2. 9 faga
3. Tl

4. dgdd
Options :
71087037925. 1
71087037926. 2
71087037927. 3
71087037928. 4



Question Number : 63 Question Id : 7108709485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT a measure of central tendency?

1. Median

2. Mean

3. Range

4, Mode
Options :
71087037929. 1
71087037930. 2
71087037931. 3
71087037932. 4

Question Number : 63 Question Id : 7108709485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HITETHT
2. 71
3, 8uft

4. dgdd
Options :
71087037929. 1
71087037930. 2
71087037931. 3
71087037932. 4

Question Number : 64 Question Id : 7108709486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is correctly matched?

1. Subcultural theories: Cyril Burt

2. Labelling theory: Howard Becker

3. Techniques of Neutralisation: Thorsten Sellin
4. The Young Delinquent: Clifford Shaw
Options :

71087037933. 1

71087037934. 2

71087037935. 3

71087037936. 4

Question Number : 64 Question Id : 7108709486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037933. 1

71087037934. 2

71087037935. 3

71087037936. 4

Question Number : 65 Question Id : 7108709487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Small amounts (slices) stolen from assets of many sources and transferring them to the
perpetrator's account is known as

1. Cyberpunks

2. Salami techniques
3. Sniffers

4. Webspoofings
Options :
71087037937. 1
71087037938. 2
71087037939. 3
71087037940. 4

Question Number : 65 Question Id : 7108709487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
4w Hidi &1 gRYufEl 9 arged-d S=RET (37=1) AT 3R 3Y SHURTY & d1d & @id 9§
3T & &I HeI Al & ;

1. g2
2, et db-id
3, famd

4, gLfthTy
Options :
71087037937. 1
71087037938. 2
71087037939. 3
71087037940. 4

Question Number : 66 Question Id : 7108709488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The idea that a strong self-image insulates a youth from the pressures and pulls of
criminogenic influences in the environment is associated with:

1. Differential Association Theory
2. Differential Opportunity

3. Cultural-deviance Theory

4. Containment Theory

Options :

71087037941. 1

71087037942. 2

71087037943. 3

71087037944. 4

Question Number : 66 Question Id : 7108709488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T fqOR & quied W-3fa Ue a1 B A1e1d & SOR1Y B o o aId WHal & gardl 3R
YT § &1 dll &, [P v 3

1. Yoo Hedd fgid

2. Yo HIW
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Options :

71087037941. 1
71087037942, 2
71087037943. 3
71087037944, 4

Question Number : 67 Question Id : 7108709489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is NOT correct about the Supreme Court’s directives in Prakash
Singh & Ors. v. Union of India & Ors?

1. Constitute a State Security Commission

2. Set up Police Complaints Authorities

3. Separate investigation and law & order functions
4. Constitute Police Accountability Commission
Options :

71087037945. 1

71087037946. 2

71087037947. 3

71087037948. 4

Question Number : 67 Question Id : 7108709489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR fUE 3R 3 €919 YRd 99 3R 3 90 § 3=9q9 OUay & fGanHeel & day o
fafed Y - O 98 Tai g ?

1. Tod GR&T AR &1 34 BT

2. qfer fRrarad Uit ull &) RG] &1
3. e U Sid 3R A U4 a1 & B
4. Ty Sididcel AN &1 169 BT
Options :

71087037945. 1

71087037946. 2

71087037947. 3

71087037948. 4

Question Number : 68 Question Id : 7108709490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following laid the key foundation of the major movement under restorative
justice?

1. Albert Bandura
2. Karl Marx

3. John Braithwait
4, W. C. Reckless
Options :
71087037949. 1
71087037950. 2
71087037951. 3
71087037952. 4

Question Number : 68 Question Id : 7108709490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087037949. 1
71087037950. 2
71087037951. 3
71087037952. 4

Question Number : 69 Question Id : 7108709491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the context of 'Right to Free Legal Aid’, who among the following judges stated that, "This
is the state's duty and not government's charity"?

1. Justice V. S. Malimath
2. Justice Krishna lyer

3. Justice Dipak Misra

4. Justice J. S. Verma
Options :

71087037953. 1
71087037954. 2
71087037955. 3
71087037956. 4

Question Number : 69 Question Id : 7108709491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087037953. 1
71087037954. 2
71087037955. 3
71087037956. 4

Question Number : 70 Question Id : 7108709492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is NOT a public order crime?

1. Prostitution

2. Drug use

3. Plagiarism

4. Sale of pornography
Options :

71087037957. 1
71087037958. 2
71087037959. 3
71087037960. 4

Question Number : 70 Question Id : 7108709492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037957. 1

71087037958. 2

71087037959. 3

71087037960. 4

Question Number : 71 Question Id : 7108709493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Crime Rate is measured in terms of:

1. Per 1,000 population

2. Per 10,000 population

3. Per 1,00,000 population
4. Per household population
Options :

71087037961. 1

71087037962. 2

71087037963. 3

71087037964. 4

Question Number : 71 Question Id : 7108709493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIRTE &2 Bl Hieiad o 9 fd 31UR IR /191 &7l & -

1. Ufd 1000 STHIEAT

2. Tfd 10,000 SHE=AT
3. 4fd 1,00,000 SHYEAT
4, U URAR DI J&=A1
Options :

71087037961. 1
71087037962 2
71087037963 3
71087037964. 4

Question Number : 72 Question Id : 7108709494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



As per the Crime in India - 2018 report, total cognizable crimes registered in India during 2018
were approximately:

1. 40 Lakhs & above
2. 45 Lakhs & above
3. 50 Lakhs & above
4, 55 Lakhs & above
Options :
71087037965. 1
71087037966. 2
71087037967. 3
71087037968. 4

Question Number : 72 Question Id : 7108709494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 40 TG 3R 399 A&H
2. 45 TG 3R 349 HfY®
3. 50 TG 3R 34y 3HfY®
4, 55 TG 3R 399 AH
Options :

71087037965. 1
71087037966. 2
71087037967. 3
71087037968 4

Question Number : 73 Question Id : 7108709495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Crime in India - 2018 Report, the major motive of cyber crimes in India was:

1. Fraud

2. Sexual Exploitation
3. Harassment

4. Terror

Options :
71087037969. 1
71087037970. 2
71087037971. 3
71087037972. 4

Question Number : 73 Question Id : 7108709495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. YRATST

2. 9 Y0

3. 3dred

4, 3AdP
Options :
71087037969. 1
71087037970. 2
71087037971. 3
71087037972. 4

Question Number : 74 Question Id : 7108709496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Juvenile Justice Board is headed by :

1. A Judicial Magistrate of First Class
2. A Sessions Judge

3. A Senior Social Worker

4. A Superintendent of Police
Options :

71087037973. 1

71087037974. 2

71087037975. 3

71087037976. 4

Question Number : 74 Question Id : 7108709496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037973. 1

71087037974. 2

71087037975. 3

71087037976. 4

Question Number : 75 Question Id : 7108709497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the Juvenile Justice (Care & Protection of Children) Act, 2015 a 'Child" means:

1. Who has not completed 15 years of age
2. Who has not completed 16 years of age
3. Who has not completed 18 years of age
4. Who has not completed 20 years of age
Options :

71087037977. 1

71087037978. 2

71087037979. 3

71087037980. 4

Question Number : 75 Question Id : 7108709497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037977. 1
71087037978. 2
71087037979. 3
71087037980. 4

Question Number : 76 Question Id : 7108709498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one among the following types of research is conducted by controlling one or more
variables?

1. Descriptive Research
2. Experimental Research
3. Exploratory Research
4. Survey Research
Options :

71087037981. 1
71087037982. 2
71087037983. 3
71087037984. 4

Question Number : 76 Question Id : 7108709498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafad o O ST H994H UH 91 U I HfHd =R S Ul o fedr S s 2
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Options :

71087037981. 1
71087037982. 2
71087037983. 3
71087037984. 4

Question Number : 77 Question Id : 7108709499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In a major development for the internal security of India, People’'s War Group (PWG) and
Maoist Communist Centre of India (MCCI) merged in 2004 to form:

1. CP I (ML)

2. C P (Maoist)
3.CPI(LWE)

4 CPI(PWG)
Options :
71087037985. 1
71087037986. 2
71087037987. 3
71087037988. 4

Question Number : 77 Question Id : 7108709499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ol ) SR AIEE] FRIFR U= AP sfegl (Ua O U %) &1 [0 81 & -9 T3 &1 -
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Options :

71087037985. 1
71087037986. 2
71087037987. 3
71087037988. 4

Question Number : 78 Question Id : 7108709500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which school of Criminology has argued that "A person's choice of crime may be controlled
by his or her fear of punishment"?

1. Sociological

2. Positive

3. Classical

4. Demonological
Options :
71087037989. 1
71087037990. 2
71087037991. 3
71087037992. 4

Question Number : 78 Question Id : 7108709500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR I & [opY TSy &1 U8 do ¢ o fedl oufdd gR1 2/ &1 999 9 & 4O 9§ i
gidTg " ?
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4. Ydvdaral
Options :
71087037989. 1
71087037990. 2
71087037991. 3
71087037992. 4

Question Number : 79 Question Id : 7108709501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is associated with General Strain Theory?

1. Ernest Burgess
2. Robert Agnew
3. Henry Mckay

4. Robert Ezra Park
Options :
71087037993. 1
71087037994. 2
71087037995. 3
71087037996. 4

Question Number : 79 Question Id : 7108709501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087037993. 1
71087037994. 2
71087037995. 3
71087037996. 4

Question Number : 80 Question Id : 7108709502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is NOT a theory of victimization?

1. Routine Activity Theory

2. Differential Association Theory
3. Life Style Theory

4. Deviant Place Theory

Options :

71087037997. 1

71087037998. 2

71087037999. 3

71087038000. 4

Question Number : 80 Question Id : 7108709502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087037997. 1
71087037998. 2
71087037999. 3
71087038000. 4

Question Number : 81 Question Id : 7108709503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following has studied criminal conduct in terms of body-build characteristics?

1. Cyril Burt

2. Henry Goddard

3. Enrico Ferri

4, Sheldon and Kretschmer
Options :

71087038001. 1
71087038002. 2
71087038003. 3
71087038004. 4

Question Number : 81 Question Id : 7108709503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, 9Te AR HEm
Options :
71087038001. 1
71087038002. 2
71087038003. 3
71087038004. 4

Question Number : 82 Question Id : 7108709504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following typology of victims was given by Walter Reckless?

1. Primary Victims

2. Secondary Victims

3. Non-Reporting Victims
4. Mutual Victims
Options :

71087038005. 1
71087038006. 2
71087038007. 3
71087038008. 4

Question Number : 82 Question Id : 7108709504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038005. 1

71087038006. 2

71087038007. 3

71087038008. 4

Question Number : 83 Question Id : 7108709505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is NOT an important duty of Probation Officers under the
Probation of Offenders Act, 19587

1. Financial support to the probationers

2. Supervise probationers

3. Inquire into the circumstances or home surroundings of an accused
4. Advise and assist offenders in the payment of compensation

Options :

71087038009. 1
71087038010. 2
71087038011. 3
71087038012. 4

Question Number : 83 Question Id : 7108709505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038009. 1

71087038010. 2

71087038011. 3

71087038012. 4

Question Number : 84 Question Id : 7108709506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Who is eligible for the appointment to the post of Chairperson of the National Human Rights
Commission as per the Protection of Human Rights (Amendment) Act, 20197

1. Chief Justice of India

2. Chief Justice of India or a Judge of Supreme Court

3. Chief Justice of a High Court

4. Chief Justice of a High Court or a Judge of High Court
Options :

71087038013. 1

71087038014. 2

71087038015. 3

71087038016. 4

Question Number : 84 Question Id : 7108709506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HI-d SAfUBR HREU (FeE) AHFTH, 2019 & ATHR, AP AME AUBR AN S T8 &
RN EH & s A U= g 2

1. HIRd T & I

2. URd &1 J% AR 41 =gy AT & dig e

3. fordl I=g ey &1 IEgfd

4. 754 3= T &1 IEYfd 91 3« Uy &1 s A
Options :

71087038013. 1

71087038014, 2

71087038015.3

71087038016. 4

Question Number : 85 Question Id : 7108709507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Who among the following authored the book entitled Delinquent Boys?

1. Robert Merton
2. Walter Miller
3. Albert Cohen
4, Thorsten Sellin
Options :
71087038017. 1
71087038018. 2
71087038019. 3
71087038020. 4

Question Number : 85 Question Id : 7108709507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fgfafaa o O fouq -fafade dige e o oeH faar s

1. TEC @A

2. dicex e
3. Ueac Pl
4. YieH e
Options :
71087038017. 1
71087038018. 2
71087038019. 3
71087038020. 4

Question Number : 86 Question Id : 7108709508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The earliest "scientific” studies examining human behaviour based on physiognomy are
associated with:

1. L. K. Lavater

2. Jeremy Bentham
3. Sigmund Freud
4. Cesare Beccaria
Options :
71087038021. 1
71087038022. 2
71087038023. 3
71087038024. 4

Question Number : 86 Question Id : 7108709508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HIPIA-faqH & YR R G-d HdeR ] oid &4 did Udi-ad “dqiHe 0 T fegd)
Tae 87

1. <l . TR

2. et oy

3. Hs wims
4. GIoR daa1ied
Options :
71087038021. 1
71087038022. 2
71087038023.3
71087038024. 4

Question Number : 87 Question Id : 7108709509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT part of the survey research method?

1. Content analysis

2. Questionnaire

3. Interview schedule
4, Interview

Options :
71087038025. 1
71087038026. 2
71087038027. 3
71087038028. 4

Question Number : 87 Question Id : 7108709509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afeiRad & O oF-U1 fddb ey Y& YU UGid & e =gl § 2

1. faugas] fazaau
2. UHTacil

3. UIETP R I
4. HIET@ R
Options :
71087038025. 1
71087038026. 2
71087038027. 3
71087038028. 4

Question Number : 88 Question Id : 7108709510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A situation in which one person or programme successfully masquerades as another by
falsifying data and thereby gains an illegitimate advantage is known as:

1. Phishing Attack
2. Vishing Attack
3. Spoofing Attack
4. Whaling Attack
Options :
71087038029. 1
71087038030. 2
71087038031. 3
71087038032. 4

Question Number : 88 Question Id : 7108709510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ul Ryfer fore hrs oaiak O1 U 98 Sid el Bl GRIeR fodl 3 & Y § Yhadgad s9dy
YR BT & 3R 39 UHR 334 AY U Bl €, dedldl & -

1. TiRTRIT afed
2. TafRiT afed
3. T 3D
4. T sedH
Options :

71087038029. 1
71087038030. 2
71087038031. 3
71087038032. 4

Question Number : 89 Question Id : 7108709511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the context of reformation of an offender, who among the following said that "If you are
going to punish a man retributively - You must injure him; If you are to improve him - You
must improve him, and men are not improved by injuries”.

1. J. S. Mill

2. Jeremy Bentham

3. Cesare Beccaria

4. George Bernard Shaw
Options :

71087038033. 1
71087038034. 2
71087038035. 3
71087038036. 4

Question Number : 89 Question Id : 7108709511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ORI & YR &b e H, Fafarad | 9 few- &e1 o i@, -aie 31y fedl sfdd @1 ufaenyres
&0 U fed S dIed § - sl 39 &fd ugaH! 91, afg 19 38 QURATdRd & - 319 399
QYR HITE 3R ofad &fd ¥ T8 geRa § 7

1. 9.0%. |

2. SieHl dyH

3. GIoR g1
4, SIS g18 2T
Options :
71087038033. 1
71087038034. 2
71087038035. 3
71087038036. 4

Question Number : 90 Question Id : 7108709512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Right of an arrested person to meet an advocate of his choice during interrogation is
prescribed in the

1. Indian Penal Code

2. Code of Criminal Procedure
3. Indian Evidence Act

4, Prisons Act

Options :

71087038037. 1

71087038038. 2

71087038039. 3

71087038040. 4

Question Number : 90 Question Id : 7108709512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
foreil FRUGR oafad @1 g@dia & GRM 30l Udg o sidddal d e @1 sifieR Fefafad 5 9
forgd faRfey fearmr g -

1. YR GUs dfgd!

2. GUS Ufehar Gfgar

3. YR |1&g Afafga
4. HRATR HfEFgq
Options :

71087038037. 1
71087038038. 2
71087038039. 3
71087038040. 4

Question Number : 91 Question Id : 7108709513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

What are the four main principles of ‘Crime Prevention Through Envircnment Design'?
A. Territorial Reinforcement

B. Self requlation

C. Natural Access Control

D. Natural Surveillance

Choose the most appropriate answer from the options given below:

1. A and B only

2. B and C only

3. Conly

4. A, Cand D only
Options :
71087038041. 1
71087038042. 2
71087038043. 3
71087038044. 4

Question Number : 91 Question Id : 7108709513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TgfaRl fSelis- & Arerd ¥ SR1Y IR & IR yE Reid |rg:
A. &9 TSI

B. % - fafgea

C. Wi fdc Ugd fg=m

D. Ui fddd Rt

1. Bad A, B

2. ®HadB, C

3. ®adC

4. HFAA, C, D
Options :
71087038041. 1
71087038042. 2
71087038043, 3
71087038044, 4

Question Number : 92 Question Id : 7108709514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Victimization Surveys provide information on which of the following?
A. Measures public attitude towards Crime and Policing

B. Relatively accurate measures of Crime

C. Insight into victims' experience

D. Measures Fear of Crime

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly

4. A, B, Cand D only
Options :
71087038045. 1
71087038046. 2
71087038047. 3
71087038048. 4

Question Number : 92 Question Id : 7108709514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ialte gagu HEitiad d§ O fogs 49y 3 THeR IgF d3d & ?
A, 3URTH 3R e ®rd & ufd oHdl &I HiHghy &1 |JH

3. HU& U ° SHWRIY B §ld AU

C. IIEd & 24 DI T84 THBRI

D. RIS & HY BT HIUA

1. Had A

2. BaA A, B

3. ®AAA, B, C

4. HAAA, B, C, D
Options :
71087038045. 1
71087038046. 2
71087038047. 3
71087038048, 4

Question Number : 93 Question Id : 7108709515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Organised Crimes are highly centralized enterprises which run illegal activities for profit at
A. National level

B. Transnational level

C. with local groupings

D. Crime syndicates

Choose the most appropriate answer from the options given below:

1. A only

2. B and C only
3.Cand D only

4. A, B, Cand D only
Options :
71087038049. 1
71087038050. 2
71087038051. 3
71087038052. 4

Question Number : 93 Question Id : 7108709515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T ORTY PTH! AU HEPd SIH Bid & off Hararad J ary & e sy nfafafat Tard &

A BT &R

B. 3Gy &R

C. ™G gl & 91y
D. 3Ty FEfEdhe

1. 3T A

2. Had B, C
3.$aAC, D

4 HIAA, B, C, D
Options :
71087038049. 1
71087038050. 2
71087038051. 3
71087038052. 4

Question Number : 94 Question Id : 7108709516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT correctly matched?

A. Qualitative analysis: Interview Transcripts

B. Measures of Central Tendency: Mean

C. Measures of Dispersion: Standard Deviation

D. Bivariate analysis: Linear Regression

Choose the correct answer from the options given below:

1. D only
2. C only
3. B only
4. A only
Options :
71087038053. 1
71087038054. 2
71087038055. 3
71087038056. 4

Question Number : 94 Question Id : 7108709516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad & 9 oH-a1 30 gafed 18l & -

4. Had A
Options :
71087038053. 1
71087038054. 2
71087038055. 3
71087038056. 4

Question Number : 95 Question Id : 7108709517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is correctly matched?

A. Acquittal: Admissable evidence

B. Assets: Property of all finds

C. Amicus Curige: Hostile witness

D. Bail: Verdict that the defendant is not guilty

Choose the most appropriate answer from the options given below:

1. A only
2. B only
3. C only
4. D only
Options :
71087038057. 1
71087038058. 2
71087038059. 3
71087038060. 4

Question Number : 95 Question Id : 7108709517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



[Frafcied H | ©H-91 9 T8l gaied & 7
A, GHfd - Wier Teg

3. URHURT : 9HIUSR 1 §uld

C. g T4 - vagigt wal

D. S : g Hhaan & ufaardt g gt 8
i f&u ¢ famedl # 9 Wl I g :

1. Had A
2. ®Had B
3. ®adC
4. Had D
Options :
71087038057. 1
71087038058. 2
71087038059 3
71087038060. 4

Question Number : 96 Question Id : 7108709518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is NOT an endocrine gland?
A. Pineal

B. Thyroid

C. Liver

D. Pancreas

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and D only
4. A, Cand D only
Options :
71087038061. 1
71087038062. 2
71087038063. 3
71087038064. 4

Question Number : 96 Question Id : 7108709518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad 3 9 o4 Usie- 94 981 § 7
A, UIFTd

B. YO ds

C. aPd

D. SHIRY

1. BAAA, B, C
2.®ad B,C, D
3. @AAA, B, D
4. HAAC, D, A
Options :

71087038061. 1
71087038062. 2
71087038063. 3
71087038064. 4

Question Number : 97 Question Id : 7108709519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



POCSO Act (2012) intends to protect children from which of the following?
A. Sexual harassment

B. Pornography

C. Sexual abuse

D. Loan sharking

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and D only
4 A B CandD
Options :
71087038065. 1
71087038066. 2
71087038067 3
71087038068. 4

Question Number : 97 Question Id : 7108709519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uia! fIFEE (2012) & FHgfaRad § 9 oM™ 341 & 3R 96 921 3 [Gug ETdHdl e ?
A TH I

1. BAAA, B, C
2. ®adB, C, D
3. ®aaD, B, A
4. HAAA, B, C, D

Options :

71087038065. 1
71087038066. 2
71087038067 3
71087038068. 4

Question Number : 98 Question Id : 7108709520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following relates to Juvenile Delinquency?
A. Riyadh Guidelines

B. D. K. Basu Guidelines

C. Beijing Rules

D. Mandela Rules

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. A and B only
4. Cand D only
Options :
71087038069. 1
71087038070. 2
71087038071. 3
71087038072. 4

Question Number : 98 Question Id : 7108709520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafeRad # € @I - 91 f[d®ey 9107 SUoR 4 Helia g 2
A. Rame feand

B. Sl.ob. 5y femngm

C. siiforT fgH

D. Hal TR

1. BAAA, C
2. ®ad B, D
3. ®HAd A, B
4. HaAC, D
Options :
71087038069. 1
71087038070. 2
71087038071 3
71087038072. 4

Question Number : 99 Question Id : 7108709521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is relevant in the Nirbhaya rape case incident?
A. Criminal Procedure Code

B. Indian Evidence Act

C. POCS0 Act, 2012

D.The Criminal Law (Amendment) Act, 2013

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only
Options :
71087038073. 1
71087038074. 2
71087038075. 3
71087038076. 4

Question Number : 99 Question Id : 7108709521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad H € ®F 91 Fa s R A § HeiEa § 2
A. TUS Ufthar Tigan

B. HIRd1g F1ed Sifaf-H

C. grg=! AT (2012)

D. HWRIAS S (@=eF) fHFaH, 2013

1. Had A
2. ®Had B
3. ®adC
4. Had D
Options :
71087038073. 1
71087038074. 2
71087038075. 3
71087038076. 4

Question Number : 100 Question Id : 7108709522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are related to Juvenile Justice Administration in India?
A. Fit Institution

B. Shelter Home

C. Vigilance Home

D. Observation Home

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and D only
4. A, Cand D only
Options :
71087038077. 1
71087038078. 2
71087038079. 3
71087038080. 4

Question Number : 100 Question Id : 7108709522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afaiad # ¥ oH-91 f[dded YR | 91a =91g Y- § Jafdd g 2
A fthe 9w
B. I T

C. qaddl T8

D. GUd& g

1. BAAA, B, C
2. ®adB, C, D
3. @AAA, B, D
4.HEAD, C, A
Options :

71087038077. 1
71087038078. 2
71087038079. 3
71087038080. 4

Question Number : 101 Question Id : 7108709523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Green Criminologist are interested in which of the following?
A. Excessive logging of trees

B. Pollution

C. Environmental crimes

D. Excessive fishing

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 A B CandD
Options :
71087038081. 1
71087038082. 2
71087038083. 3
71087038084. 4

Question Number : 101 Question Id : 7108709523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afaiad 7 O fead givd 1y IR S Sfdsidi § 7
A. G&if BT s

B. UGHUI
C. ggiaeul Hadt 3Ry

D. i AET & Afcg®!

1. 3T A

2. Bad A, B

3. PAAA, B, C

4 HIAA, B, C, D
Options :
71087038081. 1
71087038082. 2
71087038083. 3
71087038084. 4

Question Number : 102 Question Id : 7108709524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are the activities of a prison institution?
A. Vocational Training

B. Maintaining a Library

C. Release on Parole

D. Education

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly

4. A, B, Cand D only
Options :
71087038085. 1
71087038086. 2
71087038087. 3
71087038088. 4

Question Number : 102 Question Id : 7108709524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Foftied & 9 o 91 fdod o8l SRFR © Shedd | 2Hd 67
A. YIS UiRI&0T

B. JXd®Icd UaEH
C. IRId R Rer a1
D. fRram

1. 3T A

2. Bad A, B

3. PAAA, B, C

4 HIAA, B, C, D
Options :
71087038085. 1
71087038086. 2
71087038087. 3
71087038088. 4

Question Number : 103 Question Id : 7108709525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are associated with the treatment of drug dependence?
A. Relapse Prevention

B. Counselling

C. Medical Management

D. Managing withdrawal symptoms

Choose the correct answer from the options given below:

1. A, B and C only
2.Cand D only
3.B,Cand D only
4 A B, CandD
Options :
71087038089. 1
71087038090. 2
71087038091. 3
71087038092. 4

Question Number : 103 Question Id : 7108709525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. HIGH Gl & Yo & GARIghi A1

B. TR &I

c. Fafea ™ U

D. BIS 1T Q&I &1 Uee ST

1. BAAA, B, C

2. ®aAC, D

3. ®adB, C, D
4. HAAA, B, C, D
Options :
71087038089. 1
71087038090. 2
71087038091 3
71087038092. 4

Question Number : 104 Question Id : 7108709526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is correctly matched?

A. Estrogen: Male sex hormone

B. Testosterone: Male sex hormone

C. Hypoglycemia: Female sex hormone

D. Progesterone: Female sex hormone

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. A and D only
Options :
71087038093. 1
71087038094. 2
71087038095. 3
71087038096. 4

Question Number : 104 Question Id : 7108709526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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g, TR : [&Y Yo giaH

C. BT UICIRFE : Aiga 4as gaH
D. WISIgA : Afgal a4 §IHH

1. Bad A, B

2. ®ad B, D
3. ®aAC, D
4. HAAA, D
Options :
71087038093 1
71087038094. 2
71087038095 3
71087038096. 4

Question Number : 105 Question Id : 7108709527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are correctly matched?

A. Tokyo Rules: Non-Custodial Measure

B. Riyadh Guidelines: Probation Services

C. Beijing Rules: Juvenile Justice

D. Mandela Rules: Police reforms

Choose the correct answer from the options given below:

1. B and D only
2. A and C only
3. A and B only
4. Cand D only
Options :
71087038097. 1
71087038098. 2
71087038099. 3
71087038100. 4

Question Number : 105 Question Id : 7108709527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FfaRad # § ®H-91 g gHfd 82
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C. siiforT 799 : 91 ™
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i f&u 7Y fgoedl & @ 981 3w gHU:

1. $dd B, D
2. HAAA, C
3. ®HAd A, B
4. HaAC, D
Options :
71087038097. 1
71087038098. 2
71087038099. 3
71087038100. 4

Question Number : 106 Question Id : 7108709528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are correctly matched?
A.CED A W: Women's Rights

B. U N CR C: Dalit Rights

C. P T S D: Stress-Related Complications

D. 1 P C: Procedure Law

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. A and B only
4. Cand D only
Options :
71087038101. 1
71087038102. 2
71087038103. 3
71087038104. 4

Question Number : 106 Question Id : 7108709528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B. .U Hl SR - aferd SffedR

C. Ut dga gl : 719 Yest Te

D. 375Ut 9. : Uigha el B

i f&u 7Y fgoedl & @ 981 3w gHU:

1. BAAA, C
2. ®ad B, D
3. ®HAd A, B
4. HaAC, D
Options :
71087038101. 1
71087038102. 2
71087038103. 3
71087038104. 4

Question Number : 107 Question Id : 7108709529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Mixed-Method Research involves which among the following?
A. Experiments

B. Focus Group Discussion

C. Surveys

D. Interviews

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 A B CandD
Options :
71087038105. 1
71087038106. 2
71087038107. 3
71087038108. 4

Question Number : 107 Question Id : 7108709529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. TR

B. fa=iy 9ig 94i

C. Gae
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2 feu T fowenl © € w8 Sw 9T

1. Had A

2. BaA A, B

3. ®AAA, B, C

4. HAAA, B, C, D

Options :

71087038105. 1
71087038106. 2
71087038107. 3
71087038108. 4

Question Number : 108 Question Id : 7108709530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the followings are the characteristics of Human Rights?

A. Inalienable
B. Indivisible
C. Universal
D. Divisible

Choose the correct answer from the options given below:

1. A and B only

2. A, Band Conly
3. A, Cand D only
4. B, Cand D only
Options :
71087038109. 1
71087038110. 2
71087038111. 3
71087038112. 4

Question Number : 108 Question Id : 7108709530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad H € AMa SHfUeRl @ f[GRua] $H-8 8 2
A. S(UREcHE

B. SHfGHT

C. FraHIH®

D. faursg

i f&u 7Y fgoedl # € 981 I g -

1. BAd A, B

2. PAAA, B, C
3. BAAA, C, D
4, &9 B, C, D
Options :
71087038109. 1
71087038110. 2
71087038111. 3
71087038112. 4

Question Number : 109 Question Id : 7108709531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are related to Criminal Justice Process?
A. Adjudication

B. Correction

C. Investigation

D. Prosecution

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only

3. A, Band Conly
4 A B CandD
Options :
71087038113. 1
71087038114. 2
71087038115. 3
71087038116. 4

Question Number : 109 Question Id : 7108709531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 4 @ ¥ fasey sTuRi® =1 Ufshar 4 9efid @
A. rgf-igE

8. guR

C.Siig

D. 3T

i<l fGu U fasedl # € Hel 3w g

1. BAd A, B

2. HaAC, D

3. PAAA, B, C

4 HIAA, B, C, D
Options :
71087038113. 1
71087038114. 2
71087038115. 3
71087038116. 4

Question Number : 110 Question Id : 7108709532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are matched correctly?

A. Shelter home: Drop-in centres for children in need of urgent support
B. Juvenile Police Unit: J J Act

C. Children home: Child in need of care and protection

D. Special home: Children in conflict with the law

Choose the most appropriate answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 A B CandD
Options :
71087038117. 1
71087038118. 2
71087038119. 3
71087038120. 4

Question Number : 110 Question Id : 7108709532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FefaRad 4 4 M 9 gH 9gl gHlaa @ 2

A. 3194 T8 : dablcl Yeiadl & SReIaHG gl ol dgl H BisAl
8. fhaIR gfery 3abTs - ool affefgn

C. S0 75 : GW@-1 Ud TR&U B Ha=gehd aldl §w

D. fa=iy 75 : fafd & @y faarg o o=

Hid &g fawedl # 9 98l IR gHU:

1. Had A
2.®ad A B
3.®ad A B, C
4. HAAA, B, C, D
Options :
71087038117 1
71087038118. 2
71087038119. 3
71087038120. 4

Question Number : 111 Question Id : 7108709533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are correctly matched?

A. In-camera: Outside the public view

B. Injunction: A court order preventing parties to take action

C. Mistrial: An invalid trial

D. Motion: Request by a litigant to a Judge

Choose the most appropriate answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly

4. A, B, Cand D only
Options :
71087038121. 1
71087038122. 2
71087038123. 3
71087038124. 4

Question Number : 111 Question Id : 7108709533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D. WKId : il gRI AR i Hded

i f&u e fawedt & €@ wdl Sw g

1. Had A

2. BaA A, B

3. ®AAA, B, C

4. HAAA, B, C, D
Options :
71087038121. 1
71087038122. 2
71087038123. 3
71087038124. 4

Question Number : 112 Question Id : 7108709534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are correctly matched?

A. De Facto: In law

B. Burden of Proof: Duty to prove disputed facts

C. De jure: In fact

D. Capital offence: A crime punishable by death

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087038125. 1
71087038126. 2
71087038127. 3
71087038128. 4

Question Number : 112 Question Id : 7108709534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FefaRad 4 4 M 9 gH 9gl gHlaa @ 2

A. St hae! - fafg |

B. 94d @1 4R : [qdlicd 9f @ 4G ®3- & i
C. S : dRad |

D. G 9 G311 WRIY : HURTY oTgd] Goll §CS ©
2 feu T fowenl © € w8 Sw 9T

1.3ad A, B
2.®ad B, C
3.®4ad C, D
4.%dd B, D
Options :
71087038125 1
71087038126. 2
71087038127. 3
71087038128. 4

Question Number : 113 Question Id : 7108709535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are correctly matched?

A. Placebo: A 'dummy treatment’

B. Sample size: The whole population

C. Population: A collection of units being studied

D. Prima facie: Logical arguments

Choose the most appropriate answer from the options given below:

1. B and D only
2. A and C only
3. A and B only
4. Cand D only
Options :
71087038129. 1
71087038130. 2
71087038131. 3
71087038132. 4

Question Number : 113 Question Id : 7108709535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D. WY TFA1 : dhqul ol

i f&u ¢ famedl # 9 Wl I g :

1. &9d B, C
2.%ad A, C
3.®ad A B
4. ®dd C,D
Options :
71087038129. 1
71087038130. 2
71087038131. 3
71087038132. 4

Question Number : 114 Question Id : 7108709536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are correctly matched?

A. Resilience: Revictimization

B. Critical victimology: Focuses on how some social groups are structurally weak
C. A 'S D: Autistic Stress Disorder

D. Therapeutic Jurisprudence: Effects of law on the mental health of people
Choose the most appropriate answer from the options given below:

1. A and C only
2. B and D only
3. A and B only
4. Cand D only
Options :
71087038133. 1
71087038134. 2
71087038135. 3
71087038136. 4

Question Number : 114 Question Id : 7108709536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D. FifeaTaRe® faf=me - Tl & AFfS W WR (318 &1 gy

- fgu T fadeal & 9 el 3w gHU:

1.%ad A, C
2.®4dd B, D
3. ®ad A B
4.%ad C,D
Options :
71087038133 1
71087038134. 2
71087038135, 3
71087038136. 4

Question Number : 115 Question Id : 7108709537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are correctly matched?

A. Control group: The subject in an experiment who receives treatment
B. Assaciation: One variable accounts for the other variable

C. Bivariate: Related with one variable

D. Average: Geometric mean

Choose the most appropriate answer from the options given below:

1. A and C only
2. B and D only
3.Cand D only
4. A and D only
Options :
71087038137. 1
71087038138. 2
71087038139. 3
71087038140. 4

Question Number : 115 Question Id : 7108709537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FrafaRad 3 9 oF 9 gH 9el gHiea € 2

A. T o - 97 wfed o o & SuER faar o w1 8
B. YaGdl : U IR g TR & [l fogR §

C.feR . @ =R Y gafd

D. HIGd : SIHC °H

i f&u ¢ famedl # 9 Wl I g :

1. BAAA, C
2.®4ad B, D
3. ®AAC, D
4.&dd D, A
Options :
71087038137 1
71087038138. 2
71087038139. 3
71087038140. 4

Question Number : 116 Question Id : 7108709538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A. Cybercrime l. Environmental crimes
B. Crime syndicate  |Il. Tax evasion

C. Green criminology (lll. Trojan horse

D. Corporate crime  [IV. La Cosa Nostra

Choose the correct answer from the options given below:

TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1l
3A-IV,B-NIILC-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087038141. 1
71087038142. 2
71087038143. 3
71087038144. 4

Question Number : 116 Question Id : 7108709538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1L,B-1,C-1V,D-1l
3A-IV,B-NIILC-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087038141. 1
71087038142. 2
71087038143. 3
71087038144. 4

Question Number : 117 Question Id : 7108709539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

A CPTED . Increasing the difficulty in committing crimes
B. Situational Crime Prevention (SCP)|Il. E - Tagging

C. Electronic Monitoring lIl. Whistle Stop programme

D. Neighbourhood involvement V. Defensible space

Choose the correct answer from the options given below:

T.A-IV,B-1,C-1,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-1LB-IV,C-1I,D-1
4 A-IV,B-U,C-1I,D-1
Options :

71087038145. 1
71087038146. 2
71087038147. 3
71087038148. 4

Question Number : 117 Question Id : 7108709539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-IV,B-1,C-1,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-1LB-IV,C-1I,D-1
4 A-IV,B-U,C-1I,D-1
Options :

71087038145. 1
71087038146. 2
71087038147. 3
71087038148. 4

Question Number : 118 Question Id : 7108709540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. Understanding the cause of crime rates and trends . Penology

B. Understanding the nature and extent of victimization Il. The Sociology of law
C. Measuring the forces that can change laws and society lIl. Victimology

D. Using scientific methods to assess the effectiveness of crime  |IV. Theory construction
control and offender treatment programs

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-1
2ZA-1LB-IV,C-1,D-1I
3A-ILB-1L,C-1I,D-1IV
4 A-1L,B-II,C-1V,D-1
Options :

71087038149. 1
71087038150. 2
71087038151. 3
71087038152. 4

Question Number : 118 Question Id : 7108709540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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HIdhH & [T IS Gsiadl &1 4G fafor

<4 fGu T fadedl # 4 98l IR 94 -

TA-IV,B-1,C-1I,D-1
2ZA-1LB-IV,C-1,D-1I
3A-ILB-1L,C-1I,D-1IV
4 A-1L,B-II,C-1V,D-1
Options :

71087038149. 1
71087038150. 2
71087038151. 3
71087038152. 4

Question Number : 119 Question Id : 7108709541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Jeremy Bentham |l. Free will

B. Cesare Lombrosolll. Prison Reform

C. Cesare Beccaria |lll. Utilitarianism
D. John Howard V. Atavism

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-1
2ZA-1,B-1L,C-1I1,D-1IV
3A-LB-1IL,C-1I,D-1IV
4 A-ILB-IV,C-I,D-1
Options :

71087038153. 1
71087038154. 2
71087038155.3
71087038156. 4

Question Number : 119 Question Id : 7108709541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-1
2ZA-1,B-1L,C-1I1,D-1IV
3A-LB-1IL,C-1I,D-1IV
4 A-ILB-IV,C-I,D-1
Options :

71087038153. 1
71087038154. 2
71087038155.3
71087038156. 4

Question Number : 120 Question Id : 7108709542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Data collection instrument|l. Face, Construct

B. Reliability Il. Pre-testing tool
C. Pilot study lll. Questionnaire, Interview schedule
D. Validity V. Alpha Method, Test-retest

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
2ZA-IV,B-NIILC-1,D-1
3A-LB-1IL,C-1I,D-1IV
4 A-IV,B-U,C-1I,D-1
Options :

71087038157. 1
71087038158. 2
71087038159. 3
71087038160. 4

Question Number : 120 Question Id : 7108709542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NLB-IV,C-1I,D-1
2ZA-IV,B-NIILC-1,D-1
3A-LB-1IL,C-1I,D-1IV
4 A-IV,B-U,C-1I,D-1
Options :

71087038157. 1
71087038158. 2
71087038159. 3
71087038160. 4

Question Number : 121 Question Id : 7108709543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Emerging Punishments|l. Fire ordeal

B. Modern Punishment  |Il. Mutilation

C. Ancient Punishment  |lll. Simple-imprisonment

D. Medieval Punishment (IV. Electronic monitoring

Choose the correct answer from the options given below:

TA-LB-1,C-1L,D-1IV
ZA-ILB-IV,C-1,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-IV,B-NIL,C-1,D-1
Options :

71087038161. 1
71087038162. 2
71087038163. 3
71087038164. 4

Question Number : 121 Question Id : 7108709543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
ZA-ILB-IV,C-1,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-IV,B-NIL,C-1,D-1
Options :

71087038161. 1
71087038162. 2
71087038163. 3
71087038164. 4

Question Number : 122 Question Id : 7108709544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A, Acute Stress Disorder . Victim Rights
B. Counselling Il. Routine Activity Theory

C. Access to Justice and Fair Treatment|lll. Stress-Related

D. Capable Guardian V. Victim Assistance

Choose the correct answer from the options given below:

TA-NLB-IV,C-1,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1I,D-1IV
4 A-IV,B-U,C-1I,D-1
Options :

71087038165. 1
71087038166. 2
71087038167. 3
71087038168. 4

Question Number : 122 Question Id : 7108709544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NLB-IV,C-1,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1I,D-1IV
4 A-IV,B-U,C-1I,D-1
Options :

71087038165. 1
71087038166. 2
71087038167. 3
71087038168. 4

Question Number : 123 Question Id : 7108709545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A, Battered women |l Suicide, Drug dependence

B. Offender and victim|ll. Secondary victimization

C. Victimless crime I1l. Primary victim

D. Fear of crime IV. Penal couple

Choose the correct answer from the options given below:

T.A-IV,B-1,C-1,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-IV,C-1,D-1I
4 A-IV,B-U,C-1I,D-1
Options :

71087038169. 1
71087038170. 2
71087038171.3
71087038172. 4

Question Number : 123 Question Id : 7108709545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| T -1

A TRIRG fegr T difsq afgen |1 3dedl, Hied uard o Fafan
B. 3ORTel 3R Idifad 1. Tadias Iadteq

C. Idifsd - ed gy 1. AU Jdifed

D. WY B Y \v. gifsd gufd

d fgu e fasedl & wel 3w g :

T.A-IV,B-1,C-1,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-IV,C-1,D-1I
4 A-IV,B-U,C-1I,D-1
Options :

71087038169. 1
71087038170. 2
71087038171.3
71087038172. 4

Question Number : 124 Question Id : 7108709546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Capital punishment |l Victim's positive feelings towards the offenders

B. Restorative justice  |Il. Murder

C. Capital crime lll. Reintegrative shaming

D. Stockholm syndrome|lV. Removing a person’s life judicially

Choose the correct answer from the options given below:

TA-LB-1,C-1L,D-1IV
2ZA-IV,B-NILC-1,D-1I
3A-ILB-N,C-1,D-1IV
4 A-ILB-IV,C-I,D-1
Options :

71087038173. 1
71087038174. 2
71087038175.3
71087038176. 4

Question Number : 124 Question Id : 7108709546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :
gl -| T -1l

A TG T0S . RTE & Ui Iditsd B YhRIES HId
B. HdIdd- 9 1. gl

C. 3Afd - IR SRy (111, g g dferd &A1

D. Ribg [sM  |Iv. AT Wikl ¥ i Bl Siidd JHIE DAl
<4 fGu T faedl H 9§ 98l SR 9T ;

TA-LB-1,C-1L,D-1IV
2ZA-IV,B-NILC-1,D-1I
3A-ILB-N,C-1,D-1IV
4 A-ILB-IV,C-I,D-1
Options :

71087038173. 1
71087038174. 2
71087038175.3
71087038176. 4

Question Number : 125 Question Id : 7108709547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. People’s Liberation Army l. Meghalaya

B. Garo MNational Liberation Army Il. Assam

C. Hizbul Mujahideen 1. Manipur

D. National Democratic Front of Bodoland|IV. Jammu & Kashmir

Choose the correct answer from the options given below:

TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-L,C-IV,D-1
Options :

71087038177. 1
71087038178. 2
71087038179. 3
71087038180. 4

Question Number : 125 Question Id : 7108709547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| -1l

A. U9y fefae ol . HYTed

B. TTRI A=A foaw== .35

c. fewiga gefgied 1. JfoTgR

D. 4¥Fd SHIsbic® e HI® disl de V. 7 Ud HRER
- feu T fawenl o 9 98 S 9T

TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-L,C-IV,D-1
Options :

71087038177. 1
71087038178. 2
71087038179. 3
71087038180. 4

Question Number : 126 Question Id : 7108709548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence, in cases involving a death sentence
A. Appeal to High Court

B. Confirmation by High Court

C. Appeal to Supreme Court

D. Death sentence by District & Sessions Judge

Choose the correct answer from the options given below

1.B,D A C
2 A B CD
3.D,C,B A
4.D,B A, C
Options :
71087038181.
71087038182.
71087038183.
71087038184.

AW O~

Question Number : 126 Question Id : 7108709548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



qAGS & JMd H T Uishdl & FgicRad 9Rull & HHFER T :
A. 3= Gl H Sdid

B. 3o Uy gR1gp

C. 3=dd aEeg | odid
D. forel SR T <graiel gR1 §ges
d feu T1u fadedl ¥ 981 IR 9T

1.B,D A C
2 A B CD
3.D,C,B A
4.D,B,C A
Options :
71087038181.
71087038182.
71087038183.
71087038184.

AW N =

Question Number : 127 Question Id : 7108709549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence of appearance

A. All India Jail Manual Committee

B. Indian Jails Committee

C. Kapoor Committee on Prison Security

D. Prison Administration in India

Choose the correct answer from the options given below

1.B,C,D A

2 A B CD
3.D,B A C
4.B,D, A C
Options :
71087038185. 1
71087038186. 2
71087038187. 3
71087038188. 4

Question Number : 127 Question Id : 7108709549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad & 3 uigHid & HHER T :
A, RIT YR oid Berd afafa
B. Y19 o afffa

C. Sict GR&7 Yot Uz uiifd
D. HIRd H Sic] W=ITEH
d feu T1u fadedl ¥ 981 IR 9T

1.B,C,D A
2 A B CD
3.D,B A C
4.B,D, A C
Options :
71087038185.
71087038186.
71087038187.
71087038188.

AW N =

Question Number : 128 Question Id : 7108709550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence in the cases of cognizable crimes:
A. Police custody

B. Crime committed

C. Judicial custody

D. FIR registered and arrest

Choose the correct answer from the options given below

1.B,D A C
2CADB
3.A,B,CD
4.D,C B A
Options :
71087038189. 1
71087038190. 2
71087038191. 3
71087038192. 4

Question Number : 128 Question Id : 7108709550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



O3 st o A 8§ Fefiied of SHER T
A, Oferg fgered

B. HUITY Al

C. it fgerad
D. YU Y1 Uidde Gol bl R TRER &1
2 feu T fowenl © € w8 Sw 9T

1.B,D A C
2CADB
3.A,B,CD
4.D,C B A
Options :
71087038189. 1
71087038190. 2
71087038191. 3
71087038192. 4

Question Number : 129 Question Id : 7108709551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence:

A. Remote needs of the victim

B. Crime event

C. Assimilation of crime event as part of life

D. Immediate needs of the victim

Choose the correct answer from the options given below

1.D,C B A
2.B, DA C
3.A,B,CD
4.D,B,C A
Options :
71087038193.
71087038194.
71087038195.
71087038196.

AW O~

Question Number : 129 Question Id : 7108709551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad i HAaR sy
A. IS D g ARG DNl

B. HUITH T YAl

C. 3URTE P Tl BT viilg- & HF & ¥4 § THEgu
D. Idied DI dabld HGRGdH Al
d feu T1u fadedl ¥ 981 IR 9T

1.D,C B A
2.B, DA C
3.A,B,CD
4.D,B,C A
Options :
71087038193.
71087038194.
71087038195.
71087038196.

AW N =

Question Number : 130 Question Id : 7108709552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence :
A. Judgement

B. Investigation Officer's Report

C. Trial

0. FIR

Choose the correct answer from the options given below

1.D,C B A
2D,BCA
3.A,B,CD
4.B,D, A C
Options :
71087038197. 1
71087038198. 2
71087038199. 3
71087038200. 4

Question Number : 130 Question Id : 7108709552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad & HaHIR T :

A. Thgar

B. Siid SfftRI B Raie

c. faara

D. U4H a1 Ufdda

i f&u 7Y fgoedl & @ 981 3w gHU:

1.D,C B A
2D,BCA
3.A,B,CD
4.B,D, A C
Options :
71087038197. 1
71087038198. 2
71087038199. 3
71087038200. 4

Question Number : 131 Question Id : 7108709553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence :

A. Tool Construction

B. Tool Finalization

C. Testing for Reliability

D. Writing a Research Proposal

Choose the correct answer from the options given below

1. A DBC
2.D,CBA
3.D,ACB
4. A B, C D
Options :
71087038201.
71087038202.
71087038203.
71087038204.

AW O~

Question Number : 131 Question Id : 7108709553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad & HaHIR T :

A SHOU d-IH]

B. JURY 7Y B

C. fayeigar gg g

D. MY UG T

i feu ¢ famedl # 9 Wl I g :

1. A DBC
2.D,CBA
3.D,ACB
4. A B, C D
Options :
71087038201.
71087038202.
71087038203.
71087038204.

AW N =

Question Number : 132 Question Id : 7108709554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence in treating alcoholism
A. Chronic Stage

B. Regular Usage

C. Experimental Stage

D. Social Usage

Choose the correct answer from the options given below

1.D,C B A
2.C DB A
3.D,B,C A

4. A B, C D
Options :
71087038205. 1
71087038206. 2
71087038207. 3
71087038208. 4

Question Number : 132 Question Id : 7108709554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U 3UDR H FEfeiRed &f SHRER gy -
A. FR®IT® g

. Fafad v

C. WIS ST

D. FHTTSTD W

i f&u ¢ famedl # 9 Wl I g :

1.D,C B A
2.C DB A
3.D,B,C A

4. A B, C D
Options :
71087038205. 1
71087038206. 2
71087038207. 3
71087038208. 4

Question Number : 133 Question Id : 7108709555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chapters in sequence in order of appearance in IPC
A. General Exceptions

B. Of Offences Against Property

C. General Explanations

D. Of Offences Against Human Body

Choose the correct answer from the options given below

1.D,C B A
2CADB
3A,CBD

4. A B, C D
Options :
71087038209. 1
71087038210. 2
71087038211. 3
71087038212. 4

Question Number : 133 Question Id : 7108709555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad ®f YR Us Iigdl § 3+ HA™ & HATIR Tl -
A. TR 3UdTG

8. Huft & (% oyl & fqug o

C. FIHRUT TWEHI

D. {4 TRR W UHIE 3o aTd SuRref & faug

i<l fGu U fasedl # € Hel 3w g

1.D,C B A
2CADB
3A,CBD

4. A B, C D
Options :
71087038209. 1
71087038210. 2
71087038211. 3
71087038212. 4

Question Number : 134 Question Id : 7108709556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence in order of their enactment:
A. Indian Penal Code

B. Indian Evidence Act

C. Indian Police Act

D. Code of Criminal Procedure

Choose the correct answer from the options given below

1. A BCD
2B CDA
3A,CBD

4. C, A B D
Options :
71087038213. 1
71087038214. 2
71087038215.3
71087038216. 4

Question Number : 134 Question Id : 7108709556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



b ST & A H FEfaRad @i HHMER THIg?
A. YR qUSs Figdr

B. HIRd1g F1ed Sifaf-H

C. YR gierg #fuFgH

D. G35 Ufshal Hfgd

i f&u 7Y fgoedl & @ 981 I gHU:

1. A BCD
2B CDA
3A,CBD

4. C, A B D
Options :
71087038213. 1
71087038214. 2
71087038215.3
71087038216. 4

Question Number : 135 Question Id : 7108709557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence :

A. Examination - in - chief

B. FIR

C. Cross Examination

D. Charge Sheet

Choose the correct answer from the options given below

1.D,B,C A

2 A B CD
3.B.D, A C
4.D,C B A
Options :
71087038217. 1
71087038218. 2
71087038219. 3
71087038220. 4

Question Number : 135 Question Id : 7108709557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad & HaHIR T :

A TUH TIE

B. U g Uidded

C. Ufd- g

D. 3RIU - G

=i feu Y famedl & 9 Wl 3w U :

1.D,B,C A

2 A B CD
3.B.D, A C
4.D,C B A
Options :
71087038217. 1
71087038218. 2
71087038219. 3
71087038220. 4

Question Number : 136 Question Id : 7108709558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Punishment must outweigh any pleasure derived from criminal behaviour but
laws must not be harsh and severe.

Reason R: Punishment should reflect that principle with fixed sanctions for all offences written
into the law and not be open to interpretation or discretion.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087038221. 1

71087038222. 2

71087038223. 3

71087038224. 4

Question Number : 136 Question Id : 7108709558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038221. 1
71087038222.2
71087038223. 3
71087038224. 4

Question Number : 137 Question Id : 7108709559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled
as Reason R

Assertion A: Under the Indian Evidence Act, a confession made to a Police Officer is NOT
admissible in evidence.

Reason R: This has been done to safeguard the interest of the accused from forced
confessions.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038225. 1

71087038226. 2

71087038227. 3

71087038228. 4

Question Number : 137 Question Id : 7108709559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l &y RU TN B wd @l i@y (a) 3R GHR @I dd (R) Pl T & :
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1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 31R (R) GH G818 U (R), (A) B eI oI Tal 5
3. (A) 98l §, I3 (R) Hel Tai 5

4. (A) WEI 981 3, IR (R) W81 &

Options :

71087038225. 1

71087038226. 2

71087038227. 3

71087038228. 4

Question Number : 138 Question Id : 7108709560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: People are said to behave rationally when we observe a logical fit' between the
goals they strive for and the means they used to achieve them.

Reason R: The goal of human rationality is self-interest and self-interest governs our
behaviour whether in conforming or deviant directions.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087038229. 1

71087038230. 2

71087038231. 3

71087038232. 4

Question Number : 138 Question Id : 7108709560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



- &l @y 3T U B ud & SifidyA (A) SR QUL @I dd (R) Dol I3 :
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1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|
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3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087038229. 1

71087038230. 2

71087038231.3

71087038232. 4

Question Number : 139 Question Id : 7108709561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Personality theory believes that criminal activity is a result of a defective, deviant
or inadequate personality.

Reason R: Examples of deviant personality traits include hostility, impulsiveness, aggression
and sensation seeking.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038233. 1

71087038234. 2

71087038235. 3

71087038236. 4

Question Number : 139 Question Id : 7108709561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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HHBYA (A) : fGqaral Rsid 3l ¢ far SR Tafafy ues avgul, Ao ar s
Hfded &1 AT Bl B

dd (R) : [qurH safdaea &1 fa=iwdrsi & Iarexul | A & - IRl SATAMHEGI, HAThHG
HR 3T Tda1 ®l 531

Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) 3T (R) GHFT Tl & 31X (R), (A) BT el ARAT &

2. (A) AR (R) GHT W1 € U (R), (A) BT Tl ARHAT o1 ¢ |
3. (A) 981 § U= (R) 70 B |

4. (A) TTETd 8 IR (R) 9B B

Options :

71087038233. 1

71087038234. 2

71087038235. 3

71087038236. 4

Question Number : 140 Question Id : 7108709562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Social learning theory proposes that both criminal and conforming behaviours
are acquired, maintained or changed by the same process of interaction with others.
Reason R: The main difference lies in the conforming or deviant direction or balance of the
social influences such as reinforcement, values and attitudes and imitation.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087038237. 1

71087038238. 2

71087038239. 3

71087038240. 4

Question Number : 140 Question Id : 7108709562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. (A) TS & U] (R) 9o B

Options :

71087038237. 1

71087038238 2

71087038239. 3
71087038240. 4

Sub-Section Number : 2
Sub-Section Id : 710870241
Question Shuffling Allowed : Yes

Question Id : 7108709563 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage and answer the questions that follow

Without a doubt, the best known and widely adopted crime prevention programme in Britain
has been Meighbourhood Watch (NW). NW appeared first in Britain in the early 1980s - the
first scheme was established in Mollington, Cheshire in 1982. It was promoted force-wide by
the Metropolitan police in 1983. Neighbourhood groups would be formed to carry out
informal surveillance, thereby deterring thieves through "opportunity reduction’ and providing
an early warning system to police.

Sub questions

Question Number : 141 Question Id : 7108709564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first Neighbourhood Watch scheme appeared in which one of the following localities?

1. U.S. A

2. Mollington
3. France

4, Cheshire
Options :
71087038241. 1
71087038242. 2
71087038243. 3
71087038244. 4

Question Number : 142 Question Id : 7108709565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When did the first Neighbourhood Watch scheme appear in Britain?

1. 1980s

2.1982

3. 1983

4, None of the above
Options :
71087038245. 1
71087038246. 2
71087038247. 3
71087038248. 4

Question Number : 143 Question Id : 7108709566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The commonly adopted Crime Prevention Scheme in Britain is known as:

1. Metropolitan Policing
2. Force-wide System

3. Neighbourhood Watch
4. Early-warning System
Options :

71087038249. 1
71087038250. 2
71087038251. 3
71087038252. 4

Question Number : 144 Question Id : 7108709567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which crime prevention principle among the following did Neighbourhood Watch achieve in
Britain ?

1. Force - Wide Policing
2. Opportunity reduction
3. Metropolitan Policing
4. None of the above
Options :

71087038253. 1
71087038254. 2
71087038255. 3
71087038256. 4

Question Number : 145 Question Id : 7108709568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Opportunity reduction, creating fear in the minds of the thieves, providing early warning to the
police force are principles of :

1. Metropolitan policing

2. Force-wide policing

3. Crime prevention programmes
4. None of the above

Options :

71087038257. 1

71087038258. 2

71087038259. 3

71087038260. 4

Question Id : 7108709563 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 7108709564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038241. 1
71087038242. 2
71087038243. 3
71087038244. 4

Question Number : 142 Question Id : 7108709565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038245. 1
71087038246. 2
71087038247. 3
71087038248. 4

Question Number : 143 Question Id : 7108709566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087038249. 1
71087038250. 2
71087038251. 3
71087038252. 4

Question Number : 144 Question Id : 7108709567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. U TR H HH
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Options :
71087038253 1
71087038254. 2
71087038255. 3
71087038256. 4

Question Number : 145 Question Id : 7108709568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038257. 1
71087038258. 2
71087038259. 3
71087038260. 4

Sub-Section Number : 3
Sub-Section Id : 710870242
Question Shuffling Allowed : Yes

Question Id : 7108709569 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (146 to 150)
Question Label : Comprehension

Read the given passage and answer the questions that follow

In the contemporary criminal justice process, the victim plays a fairly passive role. There are
currently attempts afoot to make the criminal justice system more ‘victim-centred’ and yet
there are considerable constraints to the extent to which this is possible. However, if we look
back over a longer historical period we can see that victims have occupied a rather more active
and central role in the prosecution of crimes, as well as in crime prevention and detection.

Sub questions

Question Number : 146 Question Id : 7108709570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the past, the role of the victim in the criminal justice process was/were

1. Not involved

2. Had no role

3. Involved and had a main role
4, All of the above

Options :

71087038261. 1

71087038262. 2

71087038263. 3

71087038264. 4

Question Number : 147 Question Id : 7108709571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the passage given, steps are being taken to make the criminal justice process more
victim-oriented and the process is

1. Easy, it can be achieved
2. Not possible to achieve
3. Many problems exist

4. No problems exist
Options :

71087038265. 1
71087038266. 2
71087038267. 3
71087038268. 4

Question Number : 148 Question Id : 7108709572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who plays a major role in the criminal justice process now?

1. Offender

2. Victim

3. Others

4, Police
Options :
71087038269. 1
71087038270. 2
71087038271. 3
71087038272. 4

Question Number : 149 Question Id : 7108709573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Victim-centred process is afoot’ - means which among the following?

1. Not happening

2. Difficult to happen
3. Already happened

4. Beginning to happen
Options :

71087038273. 1
71087038274. 2
71087038275. 3
71087038276. 4

Question Number : 150 Question Id : 7108709574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following involves 'Victim-centred' criminal justice process ?

1. Contributing to crime prevention
2. Assisting in the detection of crime
3. Main role in the prosecution

4. All of the above

Options :

71087038277. 1

71087038278. 2

71087038279. 3

71087038280. 4

Question Id : 7108709569 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 7108709570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038261. 1
71087038262. 2
71087038263. 3
71087038264. 4

Question Number : 147 Question Id : 7108709571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



& 710 Tef12 & SIER SMRIEE < Uihal &1 iR e Sciifad died a9 & oY $ad
381U ST 35 & 3R g Ulshdl

1. TRAdT ¥ UId 3 ol 9Pl ©
2. UTd &1 94T ol ©

3. 37 g9 [I9EE 8

4 BE T Toi o

Options :

71087038265. 1

71087038266. 2

71087038267. 3
71087038268. 4

Question Number : 148 Question Id : 7108709572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. 39
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Options :
71087038269. 1
71087038270. 2
71087038271. 3
71087038272. 4

Question Number : 149 Question Id : 7108709573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038273. 1
71087038274. 2
71087038275. 3
71087038276. 4

Question Number : 150 Question Id : 7108709574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087038277. 1
71087038278. 2
71087038279. 3
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